
Aire et Volume d’un Tronc de Cône (F)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
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r1 = 137,02mm

h = 126,48mm

r2 = 84,01mm1.

r1 = 55,20 nm

h = 55,50 nm

r2 = 16,50 nm2.

r1 = 88 ft

h = 88 ft

r2 = 66 ft3.

r1 = 73,92m

h = 69,72m

r2 = 26,46m4.
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Aire et Volume d’un Tronc de Cône (F) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 137,02mm

h = 126,48mm

r2 = 84,01mm1.

Aire: 176.381,93mm2

Volume: 4.946.091,31mm3

r1 = 55,20 nm

h = 55,50 nm

r2 = 16,50 nm2.

Aire: 25.668,53 nm2

Volume: 245.850,56 nm3

r1 = 88 ft

h = 88 ft

r2 = 66 ft3.

Aire: 81.898 ft2

Volume: 1.650.283 ft3

r1 = 73,92m

h = 69,72m

r2 = 26,46m4.

Aire: 45.962,77m2

Volume: 592.862,33m3
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